FFEELEIH ADEHET

SEEIRNL 5 528 =

BANE 50 49 99
A 27 43 70
(B PN 20 30 50
A A B 7 4 11
SEC A 18 20 38
VPN 9 9 18
YN 7 7 14
4 gt 138 162 300




FFEEI2FE2H A EET

SEEIRNL 5 528 B

BANE 36 62 98
A 63 67 130
(EZPN 11 16 27
A AE 6 9 15
SEC A 15 15 30
VPN 14 14 28
YN 4 4 8
4 gt 149 187 336




FFEEL2EIH A EHET

REHRI 5 28 g

BANE 71 76 153
BH AR 54 73 127
(E=VN 36 31 67
A AE 8 11 19
JEC AL 24 15 39
SEHEPN 15 15 30
3PN 9 9 18
a5t 223 230 453




FFEEL2FAN A EBET

SEEIRNL 5 528 B

BANE 52 67 119
A 39 37 76
(EZPN 15 14 29
A AE 3 5 8
SEC A 13 12 25
VPN 8 8 16
YN 2 2 4
4 5t 132 145 277




FFEEIESH A EET

REHRI 5 28 &

BANE 53 64 117
BH AR 67 62 129
(E=VN 31 29 60
AN 7 6 13
JEC AL 20 13 33
VPN 29 29 58
3PN 3 3 6
& Et 210 206 416




FFEEL2FOH AL EBET

SEEIRNL 5 528 B

BANE 49 58 107
A 47 49 96
(B PN 27 25 52
A A B 6 6 12
SEC B 17 10 27
VRPN 10 10 20
YN 7 7 14
4 3t 163 165 328




FFEEIETH A EET

SEEIRNL 5 528 B

BANE 43 64 112
A 37 36 73
(EZPN 10 21 31
A A B 8 4 12
SEC A 20 10 30
VPN 9 9 18
YN 4 4 8
4 5t 136 148 284




FrEEL2ESH AL EBET

REHRI 5 28 &

BANE 53 72 125
BH AR 43 44 87
(E=VN 25 21 46
AN 8 8 16
JEC AL 25 8 33
SEHEPN 9 9 18
3PN 6 6 12
a5t 169 168 337




FFEEL2FEIH A EBET

SEEIRNL 5 528 B

BANE 47 53 100
A 43 57 100
(B PN 29 24 53
A A B 6 4 10
SEC B 19 16 35
VRPN 8 8 16
YN 7 7 14
4 3t 159 169 328




FEE&2FE10H AR Eh4rET

SEEIRNL 5 528 =

BANE 45 43 93
A 39 33 72
(EZPN 15 19 34
HAE NB 15 13 28
JEC AL 13 6 19
VPN 19 19 38
YN 7 7 14
4 5t 153 145 298




FEE &R 11 H AR Eh4rET

REHRI 5 28 & &

BANE 35 36 71
BH AR 32 40 72
(E=VN 31 26 57
AN 9 9 18
SECAEL 20 7 27
VPN 20 16 36
3PN 3 3 6
& Et 150 137 287




FEE&12FE12H AR Eh4rET

SEEIRNL 5 528 =

BANE 43 45 88
A 53 43 96
(EZPN 13 20 33
A A B 5 12 17
SEC A 19 10 29
VPN 23 25 48
YN 4 4 8
4 5t 160 159 319
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